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= NE (Network Element, M)

According to Telecommunications Act of 1996, the term " network element' means a facility or equipment

used in the provision of a telecommunications service. Such term also includes features, functions, and
capabilities that are provided by means of such facility or equipment, including subscriber numbers,
databases, signaling systems, and information sufficient for billing and collection or used in the
transmission, routing, or other provision of a telecommunications service.

= UE (User Equipment, Ffi%%&)

UE is any device used directly by an end-user to communicate. It can be a hand-held telephone, a laptop
computer equipped with a mobile broadband adapter, or any other device

= RAN (Radio Access Network, TCZEAM)

Conceptually, it resides between a device such as a mobile phone, a computer, or any remotely controlled
machine and provides connection with its core network (CN). RAN types: GRAN (GSM RAN), UTRAN (UMTS
RAN).

= CN (Core Network, #%:»/)

It is the central part of a telecommunication network that provides various services to customers who are
connected by the access network. One of the main functions is to route telephone calls across the PSTN.
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= Interfaces
= Uu, The radio interface between the UE and the BTS.
= Iub, The interface between BTS and RNC.

= Iu, The interface connects RAN and CN
= Iu-CS, Iu interface Circuit Switched
= Iu-PS, Iu interface Packet Switched
= Iur, The interface between RNCs, for soft handover.

= User Plane (J /" “F-1f)

All information sent and received by the user, such as the coded voice in a voice call or the
packets in an Internet connection, are transported via the User Plane.

= Control Plane (3% #°F-1f)

It s for all control signalling, includes the application protocol (e.g. RANAP in Iu, RNSAP in
Iur and NBAP in Iub), and the signalling bearer for transporting the application protocol
messages.

= Management Plane (% ¥ V)

The management plane carries the operations and administration traffic required for
network management.
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= MTTF/MTBF = MTTF/(MMTTF + MTTR) = 99.999%
—AE L ] 2 55 1575
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= SG(Service Group) Redundance Model
= 2N
= Active/Hot Standby.
= N+M
= Active/Cold Standby
= N-Way Active
= Active, Loadsharing
= No Redundancy
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(ITU-T X.731)
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= DRBD (Distributed Replicated Block Device)
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« ##1, PostgreSQL synchronous replication.
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